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ART A: Vocabulary
| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet.

Ancient alchemists believed that it was possible to .......... lead into gold.
1) mingle 2) direct 3) transfer 4) transmute
Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.
1) eventual 2) ambiguous 3) elaborate 4) objective
His election as President represented the .............. of his career.
1) summit 2) motivation 3) triangle 4) periphery
She found the job frustrating, and felt she wasn’t ......... anything there.
1} flourishing 2) accomplishing 3) evolving 4 satisfying
Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.
1) hegemony 2) preference 3) compromise 4) independence
He ........... all of his success to his mother’s undying encouragement.
1) interprets 2) converts 3) attributes 4) results
You can .......... the flavor of most dishes with the careful use of herbs.
1) initiate 2) impress 3) precede 4) enhance
The pirate Blackbeard had a reputation for being a harsh, .......... man.
1) reliable 2) ruthless 3) perpetual 4) prevalent
Being a direct relative of the deceased, her claim to the estate was ......c..... .
1) prominent 2) profound 3) legitimate 4) reckless
10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) domination 2} detection 3) conquest 4) toxicity

Then mrk rbe r:t bf on your answer Seet.

Football is (11) ....... ball game in the world and the most popular as a spectator sport,
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches,

11- 1) played the most widely 2) the most widely played

3) played most widely 4) the widely most played
12- 1) has contributed 2) will be contributing

3) had contributed 4) will have contributed
13- 1) to be taken 2) was taken 3) that taken 4) taken
14- 1) which were 2) therc were 3) they were 4) were
15- 1) many millions 2) many of millions

3) many millions of 4) many million
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PART C: Reading Comprehension

Directions: Read the following four passages and choose the best choice (1), (2), (3),
or (4). Then mark it on your answer sheet.

PASSAEG 1:

Corrosion is the primary means by which metals deteriorate. Most metals corrode on contact
with water (and moisture in the air), acids, bases, salts, oils, aggressive metal polishes, and
other solid and liquid chemicals. Metals will also corrode when exposed to gaseous materials
like acid vapors, formaldehyde gas, and sulfur containing gases. _

Corrosion specifically refers to any process involving deterioration or degradation of metal
components. The best known case is that of the rusting of steel. Corrosion processes are
usually electrochemical in nature, having the essential features of a battery. When metal atoms
are exposed to an environment containing water molecules they can give up electrons,
becoming themselves positively charged ions, provided an electrical circuit, can be completed.
This effect can be concentrated locally to form a pit or, sometimes, a crack, or it can extend
across a wide area to produce general wastage. Localized corrosion that leads to pitting may
provide sites for metal fatigue initiation and, additionally, corrosive like seawater may lead to
by which greatly enhanced growth of the fatigue crack. Pitting corrosion also occurs much
faster in areas where micro structural changes have occurred due to welding operations.

Corrosion is the disintegration of metal through an unintentional chemical or
electrochemical action, starting at its surface. All metals exhibit a tendency to be oxidized,
some more easily than others. A tabulation of the relative strength of this tendency is called the
galvanic series. Knowledge of a metal’s location in the series is an important piece of
information to have in making decisions about its potential usefulness for structural and other
applications.

Once metal atoms are exposed to water molecules, they give up electrons. “Give up” here
means:

1) emit 2) gain 3) take in 4) absorb
Corrosion first starts at the -—-—-——- - of metal components.

1) base 2) surface

3) base and then surface 4) both surface and base

Which of the following statements has not been mentioned in the passage?

1) Metals show a tendency to be oxidized.

2} Localized corrosion brings about fatigue initiation,

3} Metals will corrode if exposed to hydrogen peroxide.

4) To know about the location of a metal in the series helps make decisions about its potential
usefulness for applications.
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PASSAGE 2:

Visual inspection is the most common and simplest non-destructive testing method; it is
limited to detection of surface flaws and faults. Railway tracks are often tested this way.
The test involves a close visual inspection of a component surface, the surface may be
illuminated or the inspector may use a magnifying glass, mirror or other optical aid in
order to gain accurate results. Visual inspections are simple to carry out at minimal cost.
Accuracy depends on the skill, experience and knowledpe of the inspector. If a
permanent record is required, a photograph or videotape or inspectors report may be kept.
Recent advances in digital photography make this recording an excellent method.

The test specimen is first thoroughly cleaned and dried before the test. A liquid penetrant
is applied to the surface; spraying, dipping or brushing may do this. Over a period of time
the liquid penetrant is drawn into any surface faults by capillary action, any excess liquid
is removed. Depending on the process being used, the surface is coated with whiting or a
developer. Faults open to the surface will appear as a discoloured line in the whiting.
Fluorescent or coloured dyes drawn into the faults are readily seen under ultraviolet light
or as a line in the developer.

Magnetic particle tests are suitable only for ferrous metals capable of being magnetized.
Almost any size or shaped component can be tested. The test specimen is first thoroughly
cleaned and dried before the test.

When magnetized ferromagnetic specimens have a distorted magnetic field in the region
of the fault or defect. This distortion can be seen with the application of magnetic
particles as a powder or suspended in a liquid. These particles are ofien coated in a
fluorescent material enabling inspection under ultraviolet light. The flaw can be seen as a
disturbance in the flow lines. Faults perpendicular to induced field are easily detected,
whereas faults parallel to the induced field may be misinterpreted. To avoid this,
inspections and magnetization, should be carried out from different orientations.

Application of a liquid penetrant to the surface may be done throygh ——-—---- .

1) spraying. dipping, or brushing 2) either brushing or bathing

3) either spraying or dipping 4) both 2 and 3

In magnetic particle testing, the “flaw™ can be observed as a --------- - in the flow lines.
1) particle 2) specimen 3} component 4) disturbance
After application of a liguid penetrant, penetration is done through --—--——-—-- action.
1) brushing 2) capillary 3) dipping 4) spraying

To avoid misinterpretation of faults which are parallel to the induced field, —-------- :
1) the test specimen should be first cleaned and dried

2) magnetic particles should be suspended in the liquid

3) magnetic particles should be applied as a fine powder

4) magnetization should be done from different orientations

The NDT method which is used for surface faults such as railway tracks is ~-----—-- :
Ly visual inspection 2) ultrasonic testing

3) liquid penetrant testing 4) magnetic particle testing

g0 Sl 39 40 o 51 b )5 MDY g JLS1 o ST
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PASSAGE 3:

We use the word 'safety’ so much, often in company with its partner ‘health’,
that it should be easy to find a definition. Yet the dictionaries do not offer
much assistance - 'Safety [is] the absence of danger' one says, unhelpfully
supplying the entry for 'danger’ as 'absence of safety’! Others suggest "a state
of protection’ and 'a condition not involving risk'. Perhaps the best we can do
is to agree that there is no arbitrary state of 'absolute safety’, as there is
always a chance-a risk-of something going wrong, however small that chance
may be.

In the same way, a little thought about 'health’ brings the same
conclusion-it is a relative notion, in the sense that in any population there
will be those in varying states of wellness. But this does not stop us using the
word in an everyday sense to convey the idea that, in the workplace at least,
the aim should be that workers do not leave their work less ‘healthy' than
when they arrived.

The management of workplace health and safety is done together, and in
the same way, so that often in speech the word 'safety’ is used to mean both.
In recent years, it has been recognized that environmental issues also need to
be managed, and again often by using the same techniques and practices.

The everyday sense of ‘health’ in the workplace is the idea that --------—-—- .
1) health is one of the most important environmental issues

2) there should be a state of absolute safety in the workplace

3) workers do not leave their work less healthy than when they are arrived

4) the management of workplace health should be done isolated from safety
Which paragraph emphasizes HSE?

1) first paragraph 2} second paragraph

3) third paragraph 4) both first and second paragraphs

Which of the following is not true?
1) Health is a relative notion to safety.
2) HSE terms are clearly defined in dictionaries.

3) It is necessary to manage the safety and health together as well as environmental issues.
4) To manage the environmental issues, the same techniques applied for safety and health

should be followed.
The first paragraph states that —-------—--—-——- :
1) safety is the absence of danger
2) health is the opposite of the risk
3) there is no arbitrary state of “absolute safety’
4) we can rely on dictionaries for the appropriate definition of HSE terms
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PASSAGE 4:

Air pollution can be caused by particles, liquids, or gases that make
the air harmful to breathe. There are two main types of air pollution:
primary and secondary. Primary pollutants enter the air directly, like
smoke from factories and car exhaust Secondary pollutants are
chemicals that mix together to pollute the air, like mixtures of
emissions, or waste output, from vehicles and factory smoke that
change to form more dangerous pollutants in the air and sunlight.

Soil pollution can be caused by pesticides, leakage from chemical
tanks, oil spills, and other chemicals which get into the soil by
dumping or accidental contamination. Soil pollution can also cause
water poliution when underground water becomes contaminated by
coming into contact with the polluted soil.

Water poliution can be caused by waste products, sewage, oil spills,
and litter in streams, rivers, lakes, and oceans. Some scientists
believe that water pollution is the largest cause of death and disease
in the world, causing about 14,000 deaths in the world each day.

What kind of pollution is thought to cause the most death and disease?

1) Air pollution 2) Soil pollution 3) Noise pollution 4) Water pollution

The word “litter™ in the text means —-—----——-- .

1) gas 2) trash 3) recycling 4) soil pollution

E missions are ---—--——--,
1) gasses 2) pollution
3) waste output 4) Both 1 and 3 are correct
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